Find the missing term.

1) a)




b)




c)

3   =  __x__                               5  =   25                              12  =   2 
4         12                                   6        y                                 a       3

d)




e)





8 : 11  =  x  :   44          

     7  :  b       =   49 :  35

2) a) Fill in the table with the missing terms. For a proportional situation.                                                           

	1
	7
	9

	
	
	36


    The constant is of proportionality is                 

    ______                              

	1
	5
	24

	
	45
	


b)




       The constant of proportionality is           

      




       _______

3) Complete the following table of values representing a proportional situation.

	Questions
	3
	6
	9
	12
	

	Results
	4
	
	
	
	20


4) Solve the following problems.

a) If the average number of absences is 3 students per group of 33 students, how many absences are there in a school of 690 students?

b) In a city, 3 cars out of 10 are foreign. How many foreign cars are there in a shopping mall parking lot of 500 cars? 

c)  At D’Arcy, the teacher : student ratio is 1 : 29. How many teachers are needed in the school if there are 551 students?

5) Graph the amount of money earned vs time for the proportional situation: A job at a movie theatre pays $8 an hour. Include a table and a graph. Choose 6 points the first 20 hours of work.

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


